
�D8=F8п 87DO 

�8DDеD4=E – 87D4 =4 =45лNд4телP=оEтP, оE=о64==4O =4 876еEт=о< пD8=F8пе «=49д8 отл8G8O». 
�еDед к46дO< 87Dоко< =4Eод8тEO колод4 к4Dт E од=о9 8 то9 6е к4Dт8=ко9 – Qто F8Dк, 74<ок, 
о7еDо 8л8 дD4ко=. В =4G4ле 87DO од=4 к4Dт4 E Qто9 6е к4Dт8=ко9 по<еI4етEO 6 Fе=тD Eтол4 6 
к4GеEт6е 7л46=о9. ВEе 87Dок8 од=о6Dе<е==о пOт4NтEO =49т8 д64 отл8G8O <е6ду 7л46=о9 к4Dто9 6 
Fе=тDе Eтол4 8 6еDE=е9 к4Dто9 E6ое9 колодO. &от, ко<у уд4EтEO 5OEтDее 6EеE =49т8 д64 отл8G8O, 
кл4дUт E6оN 6еDE=NN к4Dту колодO по6еDE к4DтO 6 Fе=тDе Eтол4 – т4к поO6лOетEO =о64O 7л46=4O 
к4Dт4. 'G4Eт=8к, 5OEтDее 6EеE 8754686H89EO от E6о8E к4Dт, по5е6д4ет! 

�од7ото6к4 к4Dт к 87Dе 

�о =4G4л4 87DO уG4Eт=8к8 дол6=O до7о6оD8тPEO, E к4ко9 к4Dт8=ко9 о=8 5удут 87D4тP (F8Dк, 74<ок, 
о7еDо, дD4ко=). �еDе<еH49те 25 к4Dт 8 поло68те од=у 87 =8E =4 EеDед8=у Eтол4 6O5D4==о9 
к4Dт8=ко9 66еDE. О=4 5удет 7л46=о9 к4Dто9 6 Qто< D4у=де.  47д49те оEт4лP=Oе к4DтO 87Dок4< 
поDо6=у (по 4 к4DтO, еEл8 87D4Nт 5 8л8 6 Gело6ек, по 6 к4Dт, еEл8 87D4Nт Gет6еDо, по 8 к4Dт, еEл8 
87D4Nт тDое 8 по 12 к4Dт 6 87Dе длO д6о8E). КолодO 87Dоко6 D4Eпол474NтEO пеDед =8<8 
6O5D4==о9 к4Dт8=ко9 6=87. �D8 87Dе 6пOтеDо< 4 к4DтO ок46утEO л8H=8<8, 8E =у6=о отло68тP 6 
EтоDо=у. 

Ход 87DO 

ВEе 87Dок8 од=о6Dе<е==о откDO64Nт 6еDE=8е к4DтO E6о8E колод 8 ED46=864Nт 8E E 7л46=о9 
к4Dто9 6 Fе=тDе Eтол4. В4< =у6=о 5OEтDее 6EеE =49т8 д64 отл8G8O <е6ду 64Hе9 к4Dто9 8 7л46=о9 
к4Dто9. К4к толPко 87Dок =4HUл д64 отл8G8O, о= кD8G8т: «�8DеD4=E!» – 8 пок47O64ет =49де==Oе 
отл8G8O оEт4лP=O< 87Dок4<: 

 еEл8 о= пD468лP=о пок474л отл8G8O, то о= кл4дUт E6оN 6еDE=NN к4Dту по6еDE к4DтO 6 
Fе=тDе Eтол4, 8 о=4 Eт4=о68тEO =о6о9 7л46=о9 к4Dто9. О= откDO64ет EледуNIуN 6еDE=NN 
к4Dту E6ое9 колодO. ОEт4лP=Oе 87Dок8 пDодол64Nт 87D4тP E те<8 6е откDOтO<8 к4Dт4<8, 
котоDOе у =8E 5Oл8. �7D4 пDодол64етEO по те< 6е пD468л4<. 

 еEл8 о= оH85EO, е7о откDOт4O к4Dт4 оEт4UтEO у =е7о, 4 D4у=д пDодол64етEO до теE поD, пок4 
кто-=85удP E=о64 =е кD8к=ет: «�8DDеD4=E!». 

Пр<<еча=<е: Gто к4E4етEO д6уE отл8G89, котоDOе =у6=о =49т8 6 к46до< D4у=де, од=о 87 =8E 
6Eе7д4 Eо6п4д4ет E отл8G8е<, =49де==O< 6 пDедOдуIе< D4у=де. �Dу78<8 Eло64<8, 74 
8EклNGе=8е< пеD6о7о D4у=д4, 64< 6Eе7д4 =у6=о =49т8 од=о отл8G8е 87 пDедOдуIе7о D4у=д4 + 
од=о =о6ое отл8G8е. 

 

Пр<<еча=<е: 87Dок 6Eе7д4 дол6е= =4764тP 8 пок474тP д64 отл8G8O, Gто5O 875468тPEO от E6ое9 
6еDE=е9 к4DтO. 

Ко=еF 87DO 

�еD6O9, кто 875468тEO от 6EеE E6о8E к4Dт, по5е6д4ет! ОEт4лP=Oе 87Dок8 по 6ел4=8N <о7ут 
пDодол68тP 87Dу, Gто5O опDедел8тP 6тоDое <еEто, тDетPе 8 т4к д4лее. 

В4D84=тO 87DO 

НачалP=O= урове=P: 

�Eл8 у 87Dок4 =е полуG4етEO =49т8 отл8G8O E6ое9 к4DтO от 7л46=о9 к4DтO, о= <о6ет у5D4тP E6оN 
к4Dту под E6оN колоду 8 87D4тP Eо EледуNIе9 к4Dто9. 



Продв<=утO= урове=P: 

�оEле Qто7о 87D49те по 547о6O< пD468л4<, =о E од=8< 8EклNGе=8е<: 6 Fе=тDе Eтол4 тепеDP 5удет 
=е од=4 7л46=4O к4Dт4, 4 =еEколPко. Ко7д4 87Dок =4Eод8т д64 отл8G8O, о= кл4дUт E6оN к4Dту DOдо< 
E 7л46=о9 к4Dто9 (6 пеD6о< D4у=де Qто о5O74телP=о, поEколPку дDу78E к4Dт =4 Eтоле пок4 еIU =ет) 
8л8 DOдо< E дDу7о9 6Oло6е==о9 =4 Eтол к4Dто9. Что5O 6Oло68тP E6оN к4Dту DOдо< E од=о9 87 
к4Dт =4 Eтоле, =у6=о =49т8 отл8G8O <е6ду E6ое9 к4Dто9 8 6Eе<8 к4Dт4<8, EопD8к4E4NI8<8EO E 
те< <еEто<, куд4 6O Eот8те еU поло68тP. �4кDO64тP E6о8<8 к4Dт4<8 те, Gто у6е 6Oло6е=O =4 
Eтол, 74пDеIе=о. 

Важ=о: 87Dок8 =е <о7ут 6Oло68тP 5олее 5 к4Dт 6 DOд (по 6еDт8к4л8 8л8 по 7оD87о=т4л8). 

�7D4 74к4=G864етEO, ко7д4 од8= 87 87Dоко6 875468тEO от 6EеE E6о8E к4Dт. ОEт4лP=Oе 87Dок8 по 
6ел4=8N <о7ут пDодол68тP 87Dу, Gто5O опDедел8тP 6тоDое <еEто, тDетPе 8 т4к д4лее. 

 

 


